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Enrollment No: _______________________ Exam Seat No: _______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2021 

 
Subject Name:  Introductory Econometrics  
Subject Code: 4AH05IES1      Branch: B.A. (Economics) 

Semester: 5         Date: 17/12/2021  Time: 11:00 To 02:00   Marks: 70 

Instructions: 

(1) Use of Programmable calculator and any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1 Attempt the following questions:     (14) 
 

1 A parameter is a ————- quantity઩રયભાણએ————- જથ્થોછે 

  A Constant    વતત  

  B Zero    શનૂ્મ  

 C Variable   ચર  

  D None of the above    ઉ઩યયકુ્તભાાંથીકોઈનરશ  

2 If we reject the null hypothesis, we might be making  

જો આ઩ણે શનૂ્મ પલુૂધાયણાને નકાયીએ, તો અભે કદાચ ફનાલી યહ્યા છીએ 

  A A Correct Decision   એક વાચો નનણુમ  

 B Type-II Error    પ્રકાય-II ભરૂ  

  C Type-I Error     Type-Iભરૂ  

  D Unpredictable    અણધાયી  

3 F test Sample must beFટેસ્ટનો નમનૂો શોલો જોઈએ 

  A Dependent  આનિત  

 B Independentસ્લતાંત્ર  

  C Normal વાભાન્મ  

  D A and B એ અને ફી  

4 Find the expectation of random variable a?યેન્ડભ ચર a ની અ઩ેક્ષા ળોધો? 
a 0 1 2 3 4 

F(a) 1/7 2/7 3/7 4/7 5/7 
 

 A 5.71  

  B 4.71  

  C 6.71  

  D 8.71  

https://itfeature.com/glossary/variable
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5 Multicollinearity is essentially a    ફહયકોરીનનમરયટીઅનનલામુ઩ણેએછે 

  A Sample phenomenon    નમનૂાનીઘટના  

 B Population phenomenon    લસ્તીનીઘટના  

  C Both a and b    એઅનેફીફાંન ે  

  D Either a or b    ક્ાાંતોa અથલાb  

6 F test in most cases will reject the hypothesis that the partial slope coefficients are 
simultaneously equal to zero. This happens when  

ભોટા બાગના રકસ્વાઓભાાં F ઩યીક્ષણ એ પલુૂધાયણાને નકાયી કાઢળે કે આંનળક ઢો઱ાલ ગયણાાંક એક વાથે શનૂ્મ વભાન છે. 
આ ત્માયે થામ છે જ્માયે 

  A Multicollinearity is present ફહયકોરીનનમરયટી શાજય છે  

  B Multicollinearity is absent  ફહયકોરીનનમરયટી ગેયશાજય છે  

 C Multicollinearity may be present OR may not be present. 

ભલ્ટટકોલરનનમરયટી શાજય શોઈ ળકે છે અથલા શાજય ન ઩ણ શોઈ ળકે 
 

  D Depends on the F-value F-મટૂમ ઩ય આધાય યાખે છે  

7 The regression coefficient estimated in the presence of autocorrelation in the sample data are NOT                                                                                                                                 

નમનૂા ડટેાભાાં સ્લતઃવાંફાંધની શાજયીભાાં અનયભાનનત યીગ્રેવન ગયણાાંક નથી 
  A Unbiased estimators નનષ્઩ક્ષ અંદાજકાયો  

 B Consistent estimators સયવાંગત અંદાજકાયો  

  C Efficient estimators કામુક્ષભ અંદાજકાયો  

  D Linear estimators  યેખીમ અંદાજકાયો  

8 Estimating the coefficients of regression model in the presence of autocorrelation leads to this test 
being NOT valid                                                                                           

સ્લતઃવાંફાંધની શાજયીભાાં યીગ્રેવન ભોડરેના ગયણાાંકનો અંદાજ રગાલલાથી આ ઩યીક્ષણ ભાન્મ નથી 
  A t test   

 B F test  

  C Chi-square test ચી-સ્ક્લેય ટેસ્ટ  

  D All of the aboveઉ઩યોક્ત તભાભ  

9 Sample regression function is the estimated version of the___________નમનૂા યીગ્રેવન કામુ એ 
___________ નયાં અંદાજજત વાંસ્કયણ છે 

 A Estimated version of population regression function 

લસ્તી યીગ્રેળન કામુનયાં અંદાજજત વાંસ્કયણ 
 

 B Estimated version of population correlation function                                             

લસ્તી વશવાંફાંધ કામુનયાં અંદાજજત વાંસ્કયણ 
 

  C Not an estimated version of population regression function                                    

લસ્તી યીગ્રેળન કામુનયાં અંદાજજત વાંસ્કયણ નથી 
 

  D Both b and c ફાંને b અને c  
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10 Full form of OLSનયાં પણૂુ સ્લરૂ઩ 
  A Ordinary least square method   

 B Ordinary least statistical method   

  C Ordinary least sample method   

  D Both b and c  

11 When used T test Statistical when parameter of population is __________ 

જ્માયેલસ્તીનયાં઩રયભાણ____________ શોમત્માયેઆંકડાકીમટીટેસ્ટનોઉ઩મોગથામછે 

  A Normal  વાભાન્મ  

 B Zero  શનૂ્મ  

  C Abnormal અવાધાયણ  

  D Unknown અજ્ઞાત  

12 The quantitative analysis (econometrics) is based on..? 

જથ્થાત્ભકનલશ્રે઴ણ (ઇકોનોભેરિક્વ) ઩યઆધારયતછે..? 

 A Concurrent development of theoryનવદ્ાાંતનોવભલતીનલકાવ   

  B Concurrent development of observation. અલરોકનનોવભલતીનલકાવ.   

  C Both a and b. એઅનેફીફાંને.   

  D Concurrent development of theory and observation, and these are related by appropriate 

methods of inference 

નવદ્ાાંતઅનેઅલરોકનનોવભલતીનલકાવ, અનેતેઅનયભાનનીમોગ્મ઩દ્નતઓદ્વાયાવાંફાંનધતછે 

  

13 Who gave T Test theory ?T ટેસ્ટનથમયીનથમયીકોણેઆ઩ી? 

 A William Gosset  નલલરમભગોવેટ   

  B Fisher  રપળય   

  C Marshall ભાળુર   

  D A C Pigou  A C ન઩ગૌ   

14 Who gave F Test theory? (F)એપટેસ્ટનથમયીકોણેઆ઩ી? 

 A Malthus ભાટથવ   

  B Ricardo રયકાડો   

  C Fisher રપળય   

 D William Gosset નલલરમભગોવેટ   

Attempt any four questions from Q-2 to Q- 8 

 
Q-2 Explain the meaning of econometric, importance and limitation of econometric. 

VY"lDlTXF:+G]\ VY" H6FJLG[ VY"lDlTXF:+G]\ DCtJ VG[ T[GL DIF"NFVMGL RRF" SZMP 
(14) 

Q-3 Explain the estimation of  Ordinary least square model and its objectives.  

સામાન્ય;]Z[B lGIT ;\A\W DM0[,G]આંગણન;DHJM VG[ T[GF C[T]VM GL RRF" SZMP 

(14) 
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Q-4 
Write notes:   નોંધ રખો (14) 

(a) F Test   

(b) Z Test   

Q-5 Explain difference between the econometric model and   mathematical model.Explain with 

diagram/Example. 

VY"lDlTXF:+GF DM0[, VG[ Ul6lTS VY"XF:+GF DM0[, JrR[ XM O[Z K[P T[GM આકતૃિ/ઉદાહરણwJFZF  ;DH]TL VF5MP 

(14) 

 

 

   
Q-6 Write notes: નોંધ રખો (14) 

(a) Chi Square (
2
)Test.  

(b) T Test   
Q-7 Discuss on Multiple Regression  model and its assumption  

AC]R,LI lGIT;\AWG]\ lJ:TFZ5]J"S RRF" SZL AC]R,LI ;Z[B  lGIT ;\AW DM0[,GL WFZ6FVM H6FJMP 
(14) 

Q-8 Attempt following questions (14) 

(a) Find correlation coefficient between X and Y for the following data                                     

નીચેનાડટેાભાટેX અનYે લચ્ચેવશવાંફાંધગયણાાંકળોધો 
X – Value  60 34 40 550 45 41 22 43 

Y – Value  75 32 34 40 45 33 12 30 
 

 

(b) Calculate correlation coefficient from the following data  

નીચેના ડેટાભાાંથી વશવાંફ ાંધ ગયણાાંકની ગણતયી કયો 
X 9 8 7 6 5 4 3 2 1 

Y 15 16 14 13 11 12 10 0 9 
 

 

 

 

 

 


